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Relação do aço

Cinta: P1 P2

P3 P4

P5 P6

P7 P8

P9 P10

P11 P12

P13 P14

P17 P18

P19 P20

P21 P22

P23 P24

P25 P26

P29 P30

P31

Pórtico: P15 P16

P27 P28

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 351 58 20358

2 5.0 46 108 4968

3 5.0 78 158 12324

4 5.0 156 49 7644

CA50 5 10.0 130 97 12610

6 10.0 130 92 11960

7 12.5 36 187 6732

8 12.5 36 147 5292

9 12.5 20 100 2000

10 12.5 16 105 1680

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO

(kg)

CA50

CA60

10.0

12.5

5.0

245.7

157.1

453

151.5

151.3

69.8

PESO TOTAL

(kg)

CA50

CA60

302.8

69.8

Volume de concreto (C-25) = 2.92 m³

Área de forma = 45.77 m²
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